GK33/D

ELECTRIC AUTOMATIC TRIMMER DEVICE

Installation Manual o
Parts List

Series

& Caution

@ Follow the installation manual can help you finish the installation in a short time;

® EBEefore installation, assure the electric control box input voltage is AC220V
and the output voltage is DC24V;

After mounted, assure the trimmer electromagnet ground cable (yellow green cable)
is connected to the ground.

& Warning

Shut down the power breaker before installation and only the technician people can opel;ate‘




he components of the automatic trimmer device:

(TT)

Thread releaser

(ut)

Under-bed trimmer

(LFE)

Prasser foot lifter

(WP)

Wiper device

(5T)

Top trimmer

A Caution

Please check the outside package box marks. The ticks represent the devicos you Eaay

GK337D3

UT INsTALLATION AND
ADJUSTING

1. Install the lower cutting deviceuse screw 1,2 to fix the
cufter assy.

Figure 1

2. Adjustment of lower cufting device:

Make P alignto " “, needle in upper position and leoper in
front possition.

{ A ] Move movable knife to culting limit position;

[ B ] The distance between 2 on movable knife 1 and turn kneb
of looper 5 is 12mm, make 2 aligned with the inner edge
of the looper upper side 1/3;

[ C ] Release 3 and adjust 4, make movabie knife tip horizontal
swing, make adjustment;

[ D ] Atter adjustment, tighten 3.

Figure 2

Figure 3

3. Lower cutting knife height adjustmentrelease 1 and adjust 2,
make the distance between movable knife lower side and
looper is 0-0.1mm, then tighten 1.

Figure 4
4. Adjustment of movable knife and needle possition:

[ A ] Release 3 and move movable knife to the nearest position
to the needle.

[B] Adjust4 and make the distance between A and needle c-
enter 22mm, and aligned to left side of thread hole of loo-
per 2.

/

/(\

center of the needle

INNNERE
[

the left end of the sideline hole

A

— 22mm —- '

Q

Figure 5

—




337D3

INSTALLATION AND
ADJUSTING

[ C ] The installation position of spring 4 is 1.5mm far from
the tip of fixed knife, release the screw 3 for adjustm-
ent.

parallel with the lower knife

Figure 6

[ D ] To put lower thread holding device 5 3mm away from
the top of fixed knife, loosen the screw 6 to adjust the
position of lower thread holding device to parallel the
movable knife. The pressure of thread holding device
could be adjust by the screw 7. The strength of thread
holding device is around 0.1 Kilo gram, cannot be large
or small, '

parallel with the lower knife

Figure 7

5. The installation of the solenoid for lower thread cutter
ass. and adjust and connection for the lower cutter:

[ A ] To fix the solenoid 3 with screw 1and washer 2 on the head.

( B 1 To put the cutter position adjust device 4 and fasien the screw
5 of lower cutter systern. The fig 8 is the finished installation of
solenoid.

Figure 8

[ C 7o check the the efficiency of the cutting system:
Checking if the thread for looper and needle could be cut
smoothly and tidily and check if the thread for looper could
he clamp by the lower thread tension shrapnel 4 The pres-
sure of thread tension shrapnel should be adjust when it is
out of work and the pressure shrapnel 3 should be adjust
when the thread cutter is out of work.

clamp the looper thread

Figure 9

GK337D3

T T INSTALLATION AND
ADJUSTING

1. Put the driving iever 1 into the cirle,and connect it with
crank rod 2, present no need lock crank screw 3, white
add |ubrication into driving lever circle.

2 . Install bracket 6 on thread release plate 7, and lock
screw 8.

Figure 11

Figure 10

3 . Pass thread release bar 9 thru thread release plate and fix
into the hole of shaft 3, lift thread release bar o 30mm, lock
screw 11.

4. Thread release device adjusting:

[ A ] Release screw 11, then adjust thread release bar to make
sure that the distance between thread tension plate and the
pawl of seperation plate 10 is 0.5mm, then lock screw 3 and
screw 11;

[ B ] Adjust the thread release bar § to 30mm , and fock screw
11,

Figure 12




337D3

" INSTALLATION AND
ADJUSTMENT

5. Adjustment of motion sensor:
Loosen screw {1} adjust the gap between motion sensor
@& (magnetic switch) and magnetic @ to 0.5mm, the
distance between arc R and detector is 13mm.

WP

INSTALLATION ANL
ADJUSTMENT

In case the hook device run into the needle, please raise the
needle to the highest position during adjustment.

1. Fix the hook device (2 on the machine cover by screw @,

2. Adjust hook device forward, backward, upward and downw-
ard by adjust screw &, @.

3. Adjust the position of crochet @ and machine needle accord-
ing picture 14. When the crochet at the far left position, its di-
stance to the center of left needle is 10mm, the hook of croc-
het point A at a distance of 0.5mm to the pinpoin{ of machine
needle, the distance between side and center of machine ne-
edie is 1.5mm.

4. tocking screw (D, @, @ after adjustment.

0.5mm d -
i

=
1.5mm —: Jlk‘s

1mm

Figure 14

GK337D3

ST INSTALLATION AND

ADJUSTMENT

I . The occlusion between movable knife and fixed knife after
cutting thread is 0.5mm,;

2. The distance between movabie knife and limited point is
15mm when movable knife reach the extreme position of
hooking (it means movable knife reach the limited point};

3. After thread cutting, upper decoration thread will be nipped
by spring plate &, clamping force is about 0.1kg.f, loosen
the nut 3, twist the screw @,

4. Loosen screw @ @ to adjust the height and left, right posi-
tion of upper thread cutter.

I

Figure 15

Gy
\
rﬁ@
X

5. The adjusiment and checking of upper thread cutter
assembly:

[ A Lift the machine needle to the highest point, namely , P
point on handwheel take aim at "¢” paint on the machine
cover ;

Figure 16

[ B] Adjust the stroke of movable knife @ to maximum, about
15mm, the distance between movable knife and left mac-
hine needle & is 0.1-0.5mm, the highness distance betw-
een movable knife and presser foot & is 2-3mm.

Figure 17




337D3 | GK337/D3

EASY OFF THE NET CORD
WINDING CAMEXCLUD
DESCRIPTION

INSTALLATION AND
ADJUSTMENT

1. Fix the electromagnet assembly (3 on machine cover by screw
D, washer (D). Adjust positien of electremagnet nut @ and indenter
), electromagnet drive link move to the lowest position, the height
»f machine head presser foof lifted about 7mm, locking nut @.

Figure 18

Normal

Looper positioning arrival , four -wire no wound.

When the movable knife feed , moving knife thread and the bottom
line will be separated to locate .

Move knife retraction , when ready cut , the first edge drive the
three sewing thread for cutting , a second edge fo drive the
hottom line were cut move , and with the fixed biade pinching
each other bottom line.

The bottom line may
be normal held
—~

- ﬁ 0.5mm
P

/ ;
The first edge
Ideal looper vacancy

A second edge and tilt angle distance

Unusual

When-the looper reaches the positioning , the bottom line is

_pulled to the bottom of the three sewing .

When the movable knife feed , moving knife does not separate
the thread and the hottom line to locate.

- N

—

Knife retracts , ready cut , the first cutting edge completely
driven by the bottom line of sewing and cutting , forming a
second edge no effect occurs and the looper thread can

. not be clip.

-~ The bottom line can nct be held

//

Abnormal

‘When the looper through thread, the lower thread friction with
needle thread, causing the bottom line is drawn , moved betow
the looper, and can not form the normat position.




GK337D3
UuT

o

PART NO.

T/GK337EUT-001

T/GK3I37EUT-006

007019A/P

TE2836

T/GK337EUT-009

TED14-01

Y/VC2700EUTA-003

TE797

KEB33A-2

TE1267

TE1268

Helellellblelslelslel

KES33A-5

KE533-3

Y/NVC2700EUT-007

KE533-4

TE1957

TE1125B

GB/T77-M5x50-45H-FH

GB/T6170G-M5-6-FH

Y/VC2700EUT-006

KES33-13

GK337EUTA-Q02

TE1273

TE1274

TE1275

KES33-17

KES33-16

KE533-14

TE702

KES533-9

SM250/5

KE533-8

KE533-12

KE533-11

T/GK337EUT-008

TE2622

TE1270

TEL269

T/GK337EUT-007

TES0S

TE1271

T/GK337EUT-003

T/GK370EUT-004

TEL294/P

]
HHI—‘!—‘]‘\JMHI—"HHF—-‘HHI\.}HHHI—*HNMwHHHwH}AHI—‘HHMNMMNNN!—‘HNI—*)—‘?

Ll

GK337D3
WP

)

m
T
Z |
C

PART NO.

3

P/W6B00EWPC-001

P/WBDDEWPC-003

P/WE00EWPC-004

P/WEOOEWPC-005

P/WGO0OEWPC-007

P/WGODEWPC-008

P/W600EWPC-009

P/WGOOEWPB-010

P/WGOOEWPC-011

TE2119

P/WE00EWPC-014

GB/TB48-3-140HY-Zn-B

TE2144

P/WGE00EWPC-002

P/WGOOEWPC-018

P/WGOOOEWPC-015

GB/T70.1-M3*4-12.9-FH

GB/T6170-M4-10-FH

GB/T93-3-65Mn-FH

GB/76170-M3-8-FH

P/WEO0EWPC-006

SM33%/5

GB/T1972.B-8-FH

GB/T70.1-M4%6-12.9-FH

TEBOS

GB/T170.2-M3*12-12.9-FH

P/WGE00EWP-016

TE2118

007017A/P

GB/T70.1-M*10-12.9-FH

GB/T97.1-4-140HV-FH

EerEsESSEEYaSsResEREe=ae oSO OSC S

ACC-2

AU R (PR QRS (PR P B e e e L B el
Hloin|m|mlwlriminlaliaio]s winia|eini-

jon]




K337D3
T

BART NO.

Y/NG2700ETT-007-3

GB/T823-N4x16-12, 8-FH

Y/VC2T00ETT-007-2-2

Y/VG2100ETT-007-2-1

GB/7679. 1-3*186

¥/VC2I00ETT-007-1

6B/ T77-M3#4-45H-FH

Y¥/VC2700ETT~003

Y/NC2700ET1-002

¥/VC270GETT-006

GB/T77-M3*G-45H-FH

TEBOG/P

Y/NG2700ETT-004

T/GK370ETT-004T

GB/T70.1-M4¥14-12.9-FH

Y/VG2700ETT-001

Y/¥G2700ETT-008-1

GB/T70. 1-M4*14-12. 9-FH

TE1897

GB/T896-4-65Mn-FH

Y/NG2700ETT-008~2

GB/T70. 1-Mo%14-12. 9-FH

Y/G2700ETT-008-3

SRRRRPREERDEEEEER

TE806/P

GK337D3
DD

REF.NO

PART NO.

TE2275

ALT-0855-B

P/WE00PUTA-001-007

GB/T97.1-6-140HV-Zn-B

GB/TS3~-6-65Mn-FH

GB/770,1-M6*20-12,8-FH

Y/VC2700EDDA-001

Y/VC2700EDD-009

GB/T70.1-M5*14-12.9-FH

Y/NC2700EDD-004

GB/T70.1-M5%12-12.9-FH

Y/VC2700EDD-003

Y/VC2700EDD-007

SREEEEERPEERED

TE1905

45 0070184/

B GB/T70.1-M5*10-12.9-FH
) ACC-2.5

a9 Y/NC2700EDD-002-1
a9 GRB/T77-M5*5-45H-FH
@0) ¥/VC2700EDD-002-2
) P/W600PUTA-001-012
@) Y/VC2700EDD-008
a3 5M331




GK337D3
FE -

PART NO.

T/GK337ELFE-001

Y/VC2700ELFE-001

TE2274.A

68/T97. 1-6-1400V-In—B

GR/TT0. 1-ME*16-12, 9-FR-A

GBfT70.1-M5%12-12.5-FH

GB/T6170-M5-6-FH

U [P S P NC N G DR U

TE29634A

GK337D3
ST

P/HE00ESTB~003

P/W600ESTA-002

TELGH

EENO PART NO. QTY
[ P/WSOOESTA-001 1
@ GB/T1972. B-8-FH 4
OF P/WE00PST-010 4
(4 TE3353-4 1
& P/H600PSTA-008 |
® P/KE00PST-004 1
) P/WB00PST-006 i
0) TE1513 i
(9 P/WB00PST-005 i
10 TEI1512 2
a KE233 1
a? KE232. A i
3 P/WE00EST-018 {
9 | GB/T70. {-M3+4-12, §-FH 1
{d5 GB/T70. 2-M3%8-12. §-FH 1
TE3353 §
a» TE3353-1 1
19 TE3353-2 1
{9 TE3353-3 i
@0 i
@b i
@2 2
@ 2

6B/170. 2-M4x8-12. §-FH




